

a) $\int_0^{\pi} e^{\cos(x)} dx = [\sin(x)]_0^{\pi} = 0$ b) $\int \ln(x) dx = \frac{1}{2} \ln(x) = [PZ] = \frac{1}{2} (x \ln(x) - (x \cdot \frac{1}{x} dx)) = \frac{1}{2} (x \ln(x) - dx)$
 $\frac{1}{2} (x \ln(x) - x) + C = \frac{1}{2} x (\ln(x) - 1) + C$ c) $\int \sin(2x) \cos(x) dx = \int (\sin(3x) + \sin(x)) dx = -\frac{1}{3} \cos(3x) - \frac{1}{2} \cos(x) + C$

1) IF: $e^{1/x} = e^x \Rightarrow \frac{d}{dx}(e^x y) = x e^x \Rightarrow e^x y = \int x e^x dx = [PZ] = x e^x - (1 \cdot e^x) dx = x e^x - e^x + C = (x-1)e^x + C \Rightarrow y = x-1 + C e^{-x}$
 oder $2 = 1/0 = 0-1 + C e^0 \Rightarrow C = 3 \Rightarrow y = x-1 + 3e^{-x}$

2) $y'' + 2y' + y = x$; $y = y_h + y_p$ Kar. chr. $\Rightarrow v^2 + 2v + 1 = 0 = (v+1)^2 \Rightarrow y_h = (A+B)e^{-x}$
 Ansatz $y_p = x^m (C_1 x + C_2) = (m=0) = C_1 x + C_2 \Rightarrow y_p' = C_1, y_p'' = 0$ Einsetzen \Rightarrow
 $0 + 2C_1 + C_1 x + C_2 = x \Rightarrow C_1 = 1, C_2 = -2 \Rightarrow y_p = x-2 \Rightarrow y = x-2 + (A+B)e^{-x}$

4) $\lim_{x \rightarrow \infty} \frac{(e^x)^2 - \cos(x)}{e^{2x}} = \lim_{x \rightarrow \infty} \frac{e^{2x} - \cos(x)}{e^{2x}} = \lim_{x \rightarrow \infty} \frac{1 + 2x + \mathcal{O}(x^2) - (1 + \mathcal{O}(x^4))}{x + \mathcal{O}(x^3)} = 2$
 $\lim_{x \rightarrow \infty} \frac{x(2 + \mathcal{O}(x))}{x(1 + \mathcal{O}(x^3))} = \lim_{x \rightarrow \infty} \frac{2 + \mathcal{O}(x)}{1 + \mathcal{O}(x^3)} = \frac{2+0}{1+0} = 2$

5) $\frac{x^3 + 2x^2 + 5x + 1}{x^2 + 2x + 2} = x + \frac{3x+1}{x^2+2x+2}$ oder $\frac{3x+1}{x^2+2x+2} = \frac{3x+1}{(x+1)^2+1}$ so
 $\int \frac{x^3 + 2x^2 + 5x + 1}{x^2 + 2x + 2} dx = \int x + \frac{3x+1}{x^2+2x+2} dx = \frac{x^2}{2} + \int \frac{3x+1}{(x+1)^2+1} dx = \left[t = x+1 \right] = \frac{x^2}{2} + \int \frac{3(t-1)+1}{t^2+1} dt$
 $= \frac{x^2}{2} + \int \frac{3t-2}{t^2+1} dt = \frac{x^2}{2} + \frac{3}{2} \int \frac{2t}{t^2+1} dt - 2 \int \frac{1}{t^2+1} dt = \frac{x^2}{2} + \frac{3}{2} \ln|t^2+1| - 2 \arctan t + C$
 $= \frac{x^2}{2} + \frac{3}{2} \ln|x^2+2x+2| - 2 \arctan(x+1) + C$

6) $y = \frac{x^2+1}{x+1} = x-1 + \frac{2}{x+1}$ so $y = x-1$ a. Asymptote der $x \rightarrow \pm \infty$

$f'(x) = \frac{2x(x+1) - (x^2+1) \cdot 1}{(x+1)^2} = \frac{x^2+2x-1}{(x+1)^2} = 0 \Rightarrow x_{1,2} = -1 \pm \sqrt{2}$

x	$-1-\sqrt{2}$	-1	$-1+\sqrt{2}$
f'	+	0	-
f	$\frac{2}{-2\sqrt{2}-2}$	$-\frac{2}{4}$	$\frac{2}{2\sqrt{2}-2}$

$\lim_{x \rightarrow \pm \infty} f(x) = \pm \infty$ e.o.

7) $y = y_p + y_h$ Kar. chr. $v^2 + 1 = 0 \Rightarrow v_{1,2} = \pm i \Rightarrow$
 $y_h = D_1 e^{-ix} + D_2 e^{ix} = C_1 \cos(x) + C_2 \sin(x)$ Vidare \bar{v}
 $\cos^2(\frac{x}{2}) = \frac{1 + \cos(x)}{2} \Rightarrow 2 \cos^2(\frac{x}{2}) + y_p = \frac{1}{2}$ oder $y_p'' + y_p = \frac{1}{2} \cos(x)$
 Ansatz $y_p = x^m (A \cos(x) + B \sin(x)) = (m=1) = x (A \cos(x) + B \sin(x)) \Rightarrow y_p' = \dots$ oder
 Insättning i chr. \Rightarrow Identifikation av koeff. $\Rightarrow y_p = x (0 \cos(x) + \frac{1}{4} \sin(x)) = \frac{x}{4} \sin(x)$ Vidare \bar{v} $y_p = \frac{1}{2}$ e.o. $y = y_p + y_h + y_h = \frac{1}{2} + \frac{x}{4} \sin(x) + C_1 \cos(x) + C_2 \sin(x)$

8) Se Lösningen.